F2IR=BERAR—YDVEEAI=ZNATY PER-IVRRAXEER

<B¥>

29

=15 ARMEEWREE(ABI—H)

R

21

33

—

—

45

18

—

#sk/N(FHE) Bfs (okc) BIR (FRE)

—

47

o6

33

37

—

—

18

24

—

44

—

BE(RE) N E(FE) W@ (F8) DOLURE) #HR (=R

o1

<&ZF>

43

K5 . LREERFE (ABI—F) | BR/DFR(Ca—F)

99

—

ms(FE) RE(FH)

—

32

16

34 33 20
e
| 30
35 40 22
17 31 32 26 20 68
] ] ]
FEGCE) ZEIX(EE) IF (=N AR/DNFEE) BE(EHE) EFoaid)
| | |
49 55 35



F2IE=BEBRAR—YDERAI=NRATY PE-IERLXS

H#EX 12A5H (1)

BiIRESWTE BIRINFR
Ad—h Ba—k Ca—F
9:30 mE % | #E & | M & | Z2EL x| 930 wmEF k| BED &
59—32 17—31 32—26
10:30 &N 5| BB B | MR B BE B | 70:30 B % 128 %
33—45 18—47 20—68
11:30 wmrE B | wm 5 | 2oL B | #HH B
56—18 24—44
12:30 = ZEI iR HME 12:00 REF =55
43—35 16—49 40—22
13:30 pid A# whHE A 13:00 £k ol
29—21 33—37 55—35
14:30 £k BT R ] 220
51—34 33—20
15:30 g e S mE
14—31 45—30




